3-3
ex3-3lag.tsp

freq a;

smpl 1983 2002;
read(file="h:ex3-3.x1s");
5

?

?

olsq ce c yd ce(-1);
ste=Q@res/@s;

graph date ste;

>

?

?
wyd1=yd+yd(-1)+yd(-2)+yd(-3);
wyd2=yd(-1)+2*yd(-2)+3*yd(-3);
wyd3=yd(-1)+4*yd(-2)+9*yd(-3);
.

?
?
print ce wydl wyd2 wyd3;
olsq ce ¢ wydl wyd2 wyd3;
”

?

?

freq n;

smpl 1;

b1l=@coef(2);
b2=@coef(2)+@coef(3)+@coef(4);
b3=@coef(2)+2*@coef(3)+4*@coef(4);
b4=@coef(2)+3*@coef(3)+9*@coef(4);
print bl b2 b3 b4;

end;
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1985 2002
(dummy1.xls)
HP
dummyl.tsp

freq a;

smpl 1985 2002;

read(file="h:dummyl.xIs");

?

?

?

olsg y ¢ x;

stel=@res/@s;

graph date stel;

?

?

?

load d;

8*0 1 9*0;

print y x d;

olsqy ¢ x d;

ste2=Qres/(@s;

graph date ste2;

end;

5-4 TSP
CE
YD ex5-4.xls
ex5-4.tsp
freq q;

smpl 1996:1 2003:1;
read(file="h:ex5-4.x1s");
5

?

?

graph yd ce;

dummy (exclude,prefix=d);
print ce yd d1-d3;

i

?

?

olsq ce c yd d1-d3;
ste=Q@res/@s;

graph yd ste;

end;



3-3 CE

1991

freq a;

smpl 1983 2002;
read(file="h:ex3-3.x1s");
5

?

?

graph ce yd;
regopt(chowdate=1992) chow;
olsq ce c yd;

stel=@res/@s;

graph date stel;

>

?

?

load d;

9*0 11*1;

dyd=d*yd;

print ce yd dyd d;
olsq ce ¢ yd dyd d;
ste2=0@res/@s;

graph date ste2;
end;

YD

1992

dummy?2.tsp

1980



